

Contract ID: 13450 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 District(s): N4

Call Order: 450 Project(s):

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC				
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0001 1	51006M	1.000	5,000.00000	5,000.00	5,000.00000	5,000.00		
PERFORMA PAYMENT E	NCE BOND AND BOND	DOLL						
0002 1	52004P	1.000	1,800.00000	1,800.00	4,100.00000	4,100.00		
	ND CONTRACTO E LIABILITY	R'S DOLL						
0003 N	MR005M	4.000	2,900.00000	11,600.00	2,900.00000	11,600.00		
SPECIAL MO	OBILIZATION	U						
0004 N	MMG007M	(1)	10,000.00000	10,000.00	12,000.00000	12,000.00		
FIELD OFFI	CE EQUIPMENT	LS						
0005 1	57004M	1.000	600.00000	600.00	600.00000	600.00		
CONSTRUC	TION LAYOUT	DOLL						



Contract ID: 13450 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 District(s): N4

Call Order: 450 Project(s):

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway		Cat Al	Set:	Cat A	It Member:	
0006	158072M	1.000	1,200.00000	1,200.00	1,500.00000	1,500.00		
OIL ONI TYPE 1	Y EMERGENCY	SPILL KIT, U						
0007	MMR080M	15,000.000	0.01000	150.00	0.50000	7,500.00		
CLEARI	NG SITE	LF						
8000	610003M	150,000.000	0.80000	120,000.00	1.60000	240,000.00		
TRAFFI	C STRIPES, 4"	LF						
0009	610006M	10,000.000	1.20000	12,000.00	2.40000	24,000.00		
TRAFFI	C STRIPES, 6"	LF						
0010	610007M	10,000.000	1.60000	16,000.00	3.20000	32,000.00		
TRAFFI	C STRIPES, 8"	LF						



Contract ID: 13450 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 District(s): N4

Call Order: 450 Project(s):

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description			(1) DENVILLE L		(2) TRAFFIC	LINES INC		
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0011	MMR081M	80,000.000	1.45000	116,000.00	2.35000	188,000.00		
	MARKINGS, LINES, PLASTIC	LF						
0012	610009M	15,000.000	7.00000	105,000.00	7.00000	105,000.00		
TRAFFIC	MARKINGS	SF						
0013	610012M	323.000	40.00000	12,920.00	50.00000	16,150.00		
RPM, MC LENS	DNO-DIRECTIONAL, \	WHITE U						
0014	610018M	325.000	40.00000	13,000.00	50.00000	16,250.00		
RPM, MC AMBER I	DNO-DIRECTIONAL, LENS	U						



Contract ID: 13450 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 District(s): N4

Call Order: 450 Project(s):

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item Des			(1) DENVILLE L		(2) TRAFFIC	LINES INC		
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0015	610021M	315.000	40.00000	12,600.00	50.00000	15,750.00		
RPM, BI-DI LENS	RECTIONAL, AMBER	U						
0016	610024M	100.000	5.00000	500.00	25.00000	2,500.00		
REMOVAL	OF RPM	U						
0017	610027M	900.000	18.50000	16,650.00	30.00000	27,000.00		
REMOVAL RPM LENS	AND REPLACEMENT	OF U						
0018	610036M	20,000.000	0.45000	9,000.00	0.90000	18,000.00		
REMOVAL	OF TRAFFIC STRIPES	S LF						
0019	MMR067M	20,000.000	0.55000	11,000.00	0.90000	18,000.00		
REMOVAL MARKINGS	OF TRAFFIC S, LINES	LF						



Contract ID: 13450 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 District(s): N4

Call Order: 450 Project(s):

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC				
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0020 REMOVAL	610039M - OF TRAFFIC MAI	10,000.000 RKINGS SF	3.00000	30,000.00	4.00000	40,000.00		
CONTRAS	MMR064M E PATTERNED ST PAVEMENT S TAPE, 7"	2,000.000 LF	7.00000	14,000.00	14.50000	29,000.00		
CONTRAS	MMR090M E PATTERNED ST PAVEMENT S TAPE, 9"	1,000.000 LF	9.00000	9,000.00	18.00000	18,000.00		
PATTERN	MMR065M LOF LONG LIFE ED CONTRAST IT MARKINGS TAF	100.000 LF PE	10.00000	1,000.00	12.00000	1,200.00		



Contract ID: 13450 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 District(s): N4

Call Order: 450 Project(s):

Contract Time: 12/31/14 COMPLETION DATE

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC				
Alt Se	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0024	610030M	40.000	140.00000	5,600.00	99.50000	3,980.00		
FLEXIBL MOUNTE	E DELINEATOR, GROUED	JND U						
0025	610031M	70.000	80.00000	5,600.00	29.50000	2,065.00		
	E DELINEATORS, R CURB MOUNTED	U						
0026	MMA113M	60.000	35.00000	2,100.00	9.95000	597.00		
SIDE DE	LINEATORS, REPLACE	E U						
0027	609078M	50.000	30.00000	1,500.00	9.95000	497.50		
FLEXIBL RAIL MC	E DELINEATORS, GUI	DE U						
0028	610033M	3,000.000	3.50000	10,500.00	5.00000	15,000.00		
RUMBLE	STRIP	LF						



Contract ID: 13450 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 District(s): N4

Call Order: 450 Project(s):

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: Maint. LLPM Contract, North-2014, DP 13450

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING INC.		(2) TRAFFIC LINES INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Section Totals:			\$554,320.00		\$855,289.50		
Contract Totals			\$554,320.00		\$855,289.50		
Cos	t Plus Time Totals		\$554,320.00		\$855,289.50		

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 450 Contract ID: 13450 Counties: BERGEN, ESSEX,

HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: December 10, 2013 10:00 AM District(s): N4

Contract Time: 12/31/14 COMPLETION DATE

Contract Description: Maint. LLPM Contract, North-2014, DP 13450 Project(s):

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	D2597	DENVILLE LINE PAINTING INC.	\$554,320.00	100.00%
2	T7152	TRAFFIC LINES INC	\$855,289.50	154.30%
	Z6412	ZONE STRIPING INC	Irregular	

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,